Bapuaurs! 3aaauuii
BapuauTe! 3axanmii

No HUcxoauas 3
sapuanTa diie HaYeHHUsT
Z(a,b,¢) napamMerpos
(b+c—a2)'b2 a=3,8510,01
= b=2,0435+0,004
1 c“+b
¢=926,6+0,2
s L a=0,12456+0.0005
% a+b ~sin(c) b=0,078+0,0003
y . c=0,2468+0,00013
=2,35+0,003
‘/(C+b—a)3 Z 3,272+0.001
3 3 ) =\
3 bic’ +b ¢=27,03+0,009
_— a=0,1245+0,0005
aln(a+c) b=0,12+0,0003
3 _ 2 = b}
4 Na—b ¢=2,0840,015
T a=0,2456+0,0005
T sin(ch) + cb b=0,078+0,003
S c c=8+0,25
b _ a=2456+0,0005
~7= (1+b)sin(2c) b =0,00078+0,00003
6 e
¢=0,008+0,00013
(C—d)bz a=3,85-*_'0,01
— b=2,0435+0,004
7 3
Ne+b ¢=926,64+0,2
(@a+b)x a=0,2456+0.0005
Tln (I+c¢) b=0,20078+0,00003
| _

¢=0,008+0,00013




b=0,0078+0,00003

Ne Hexopnas 3HayeHusn
BapHaHTAa hyskuns
Z(a,b,c) napamerpos
. 2 a=0,2556+0,0005
[W—bz)‘l] In(a+ac®) |b=0,50078+0,00003
9 a—=b ¢=0,8+0,013
a=0,12456+0,0005
b=0,12078+0,00003
10 ¢=2,0840,015
(c+b-a)'s’ p—_
11 Jc? +b? ¢=0,7695+0,0001
ath a=0,2456+0.0005
" b (@ +b)lnB3+c) |, _ 0.0078+0.00003
c=8+1.23
ab a=0,12456+0,0005
—In(1+ac) b =0,0078+0,00003
13 a—b
¢ =0,008+0,00013
Yath a=0,2456+0,0005
————sin(l+a) b=10,0078+0,00003
14 13 c=840,23
ab _ a=0,12456 +0,0005
. firc (a+b)sin(c) b=0,0078+0,00003
¢=0,008+0,00013
3 a=33,23+0,02
16 b—Jrzc(aZJr\/Z) b=5,65+0,05
cos(c”)
¢=0,7695+0,0001
(c—a)p® a=13,85+0,01
- WIH(HW) b=2,0435+0,004
¢ =926,6+0,2
i a=0,2456+0.,0005
18 B (a—b)’ cos(a’c)

c=8+0,23




Ne Hcxonnas 3
AT F— HaYeHus
Z(a,b,c) napamerpos
L a+h @) a=3,85+0.01
a C b=12,0435+0.004
Va-b oo
19 c=926,6+0,2
T a=3,85+0.01
(\/—“b) (I+¢)lg(c) b=2,0435+0,004
20 ¢ ¢=926,6+0,2
Tabnuual .3
Ne
29/ 5 59. 5
1 /13_2,23, J6 =2,45
17/ i 55 o
2 /14_1,21, V8=2,83
3 2%3=1,54; B.8=1,95
4 22/ =3,143; 14 =3,742
5 1417=O,823; V58 =7.61
6 y=o,235; J10=3,16
5/ _ . 87 .
7 /13—0,385, ,//20_0,387
8 1%:2,28; =177
20/ —b 0 _
9 /29—0,69, V83 =911
10 2%3=1,54; J6.8 =2.61
13/ —aer 37 _
11 /15—0,87, ,//3_0,82
12 1%7=l,06; J15 =3,87
13 1%3=1,31; J3,7=19




14

6/ ,=0,462; \/Z=0,707

15

23/ _1i &3 _
45_1,53, J27 =5,19

16

21/ _ . _
/29_0,724, J83 =9,11

17

197 23 &) —
4_6,33,\/3—_7,14

1/ . _
18 42_0,583, J23 = 4,796
19 2921=1,38; J18 =4,243
20 1%=3,667; J12 =3,464




